stress test

2. o= F oo HiT oA Rl A2

® 1 -3z 4+ 222 + 423
@ —23+5x+1

® xz—-8y+1

@ 422 +3x -1

® bzy—3

3. 7429l Lol 3a+2, A2 2
Bopo] siete] 22 Aoen
ul, ol Tstolel.

2017} 5b 2 A7
dtha=1,0=2¢

5.

6.

2" x 2% =64 0|11 25425 =2v A uf, x+y O FL2?

® 6 @7 ® 8 @ 9 ® 10
2y —2[z+3y —3{2y+2(z+y)} =TI IS
o, z o] Aoty o] A9 20

O -7 ©@-3 ®0 @ 6 ® 11

oW Aol Al 4z - 3y S HelloF & AL Wl
o}
H

WA E Y 22 — 7y 7t F A}, o] W, vf=A] A4t
27

® —8x — 13y @ 2x — 10y

® 6x — 10y @ 10z — 13y

® 10z + 4y




8.

(22 — y)(3x + by) & Z7HstH?

D 522 — 32y — 5y @ 522 + 102y — 5y

® 622 — 3zy — 5y @ 622+ Txy — 5y

® 622 + 10zy — 5y

9. (5z —2y)? = AMSH ax? + bay + cy? ©|tt. o|u,
Fra,b,c Fat+btc T2
-2 ©2 ® 5 @9 ® 13

10 b3\ 8 8
(ﬂi) =T o w0 o g Totel
=y Yy

11. %4 a,b o Hste] 32 — 5y — {y — 2(2z + 3y)} =
ar +by € o, a +b 2 G Fotoi=h

12, o5 243 w52 o, A5 A, B, C, D, E 9] gto]
obd 729
@ 4(2?—32)— (322 —62+7) = Az’ +Bx—7
222 —3zx+1 z2—-2x+3
© 2 B 3 -
Cz®>+ Dz + FE
6
O A=1 @ B=-6 ® C=14
@ D=-5 ® E=3

13. 2 =-2, y =54 o], ohx 2] FL& Fotoiet
622y — 9z5y*
3xy

14. o= I3 Zo] 2o 7tz o] Zoj7t 3a , M2 9]

Zol7t 20 1 A&HA 2] B17} 18a% — 154%b 2L
3 o, %olg Fatofel.

[}
=

itk a =6, b=4

7
,
L7 2a

15. 4x+3y =24 o, 5(x —3y) — 24z — 3y) & = °l
e Aoz vehfolet,




16. FAl ZAL o] 83t0] (v +3)(x + a) 2 AT Alo]
12 o|e}. ojuff A= a, b O = Fotoiet

17. 2 YaBy? ( zyQZ) b
RN — c A —
<2myz) X 3 - 3 arbycz oA a

Pt Se o e

@ -5 @ -7 ® -11
@ —13 ® -15
18. 9712 = 322 x 3v oA y 2] Zre?
® 3 @ 4 @5 @ 6 ® 7

19. a322y3 x (—ay)® = -85 Y W], A= a, b, cOl

5t ab — 2¢ 9] FH& FoteiEt.

= o, =9 A, y o] A,
a, b, cﬂ'O]'Uq a+b+c9 722
® 12

@ 13 ® 14

21. th8 a3} Zo] 7t2 9] Zol7t 2zem , A2 9] Zo)7t
3yem Q1 ZAZYE ABCD K9] Fol& ol FAHZ
3 ABFE ¢} AA12tE EGHD 2 Zehf9le of, Yo
ol Hlolg z, y 9 Ao Ht2H VehdH A-27?

_ - 2zcm - _
- T~

3ycm
\

W --
aQ

O 422 + 18zy + 18y?
@ 422 — 182y + 18y2
® 42% — 182y — 18y>
@ —42? — 18zy + 18y>

® —4x% 4 18zy — 18y

BT :y“y o] & Fafolat,

&\»—'
c:\»—‘

23. o} AolA P o] 2+ Tatoleh (sh a £b £ o
a b c

P = =0 T h=ot=a) T e—a)c=0)




24. 7(x+a)?+(4x+b)(z—5)

10|t} a, b 7} A o,

® —-28
@ 20

25. 2z +ay—5)(z—2y+3)=
7t gl 4ol 2ol 50|
-2 @-1 ©0

ot olm, a 9|

@ 1




